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For the questions from 1-3, fill in the boxes to convert them 
into the slope-intercept form.  

1) 4x + y =12 ⇒ y =

2) 2x - 3y = -1  ⇒   -3y = - 1  ⇒ y =

3) 4
5

x + 1
3

y = 6  ⇒ 1
3

y = ⇒ y =

The following equations of lines from 4-9 are in standard from. 
Convert each of them into the slope-intercept form.  

4) -6x + 3y = -8

5) 4x - y = 14

6)
7
3

x + 
3
4

y = -8 

7) -10x + 2y = -4

8) − + = −
1 4x y
4 7

9) -12x + 4y = -16

10) Mia has some photos in her photo album and she starts
adding a constant number of photos every week. The
relation between the number of photos (y) and the number
of weeks (x) is given by the linear equation -10x + y = 20.
Convert this equation into the slope-intercept form to find

Standard Form To Slope Intercept Form 
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i) the initial number of photos in the album. 
ii) the number of photos being added per week. 
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1) 4x + y =12 ⇒ y = − +4x 12  

2) 
2x - 3y = -1  ⇒   -3y =  - 1  ⇒ y =  +

2 1x
3 3

 

3) 4
5

x + 1
3

y = 6  ⇒   1
3

y = − +
4 x 6
5

  ⇒ y = − +
12 x 18
5

 

4) 
= −

8y 2x
3

 

5) y = 4x – 14  

6) 
= − −

28 32y x
9 3

 

7) y = 5x – 2  

8) 
= −

16y 4x
7

 

9) y = 3x - 4  

10) y = 10x + 20 
i) 20 
ii) 10 
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1. Two lines are said to be parallel if 
their slopes are equal. 

2. Two lines are said to be 
perpendicular if the product of their 
slopes is -1. 

3. To find the slope of a line given its 
equation in terms of x and y, solve 
it for y to get it to the form y = mx + 
b. Then m is the slope of the 
equation. 
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